
* THE OEM NUMBER WITH MARK ◈ IS THE STANDARD NUMBER AMONG SEVERAL OEM NUMBERS.

  UNLESS CUSTOMER REQUIREMENTS, OEM NUMBER MARKED WITH ◈ WILL BE INDICATED ON INDIVIDUAL BOX.

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CB0500 FOR 54524-EZ50C UPPER TITAN XD CREW CAB 16-18 40PCS

FOR 54525-EZ50C TITA XD EXTENDED/REGULAR CAB 17-18

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CB0477 CBSU-6 20206-FL00A LOWER IMPREZA SEDAN/WAGON 17- 30PCS

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CB0497 CBCR-25 83500202AB LOWER JEEP CHEROKEE/WAGONEER 84-96 50PCS

JEEP CHEROKEE 97-01

JEEP COMANCHE 86-92

JEEP GRAND CHEROKEE 83-98

JEEP WRANGLER 87-95

97-06

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CB0493R CBKH-47R 54530-S0100 LOWER R VELOSTER N JS 18- 16PCS

CB0493L CBKH-47L 54530-S0000 LOWER L VELOSTER N JS 18- 16PCS

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CB0496 CBSS-6 FOR 44401-51200 LOWER SM5 98-09 40PCS

FOR 44402-51200

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CE0864R CEMZ-74R UC2N-32-280 OUTER R BT-50 (4X2>STAGE5), 4X4 11- 18PCS

(30/2PCS)

CE0864L CEMZ-74L UC2N-32-290 OUTER L BT-50 (4X2>STAGE5), 4X4 11- 18PCS

(30/2PCS)

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CE0863R CEHO-69R 53540-TVA-A03 OUTER R ACCORD SEDAN 18 10PCS

(20/2PCS)

CE0863L CEHO-69L 53560-TVA-A03 OUTER L ACCORD SEDAN 18 10PCS

(20/2PCS)

NEW ITEMS

RENAULT SAMSUNG

TIE ROD END

MAZDA

HONDA

CHRYSLER

HYUNDAI

BALL JOINT

NISSAN

SUBARU



NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CE0862R CEF-77R 1802974 OUTER R FORD MONDEO 14- 30PCS

M18xP1.5 (40/2PCS)

CE0862L CEF-77L 1802977 OUTER L FORD MONDEO 14- 30PCS

M18xP1.5 (40/2PCS)

CE0882 CEF-80 HC3Z-3A131-C OUTER FORD-CEG/MTD SUPER DUTY(2WD, F-250/F-350) 17-18 10PCS

1"-16UNF (20/2PCS)

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQ0389R 54500-4EA0B LOWER R QASHQAI UK MAKE J11E 13- 4PCS

CQ0389L 54501-4EA0B LOWER L QASHQAI UK MAKE J11E 13- 4PCS

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CL0676R CLMZ-43R N243-28-170 REAR R MX-5 MIATA 16-18 40PCS

M10xP1.25 MX-5 MIATA RF 17-18 (80/2PCS)

CL0676L CLMZ-43L N243-28-190 REAR L MX-5 MIATA 16-18 40PCS

M10xP1.25 MX-5 MIATA RF 17-18 (80/2PCS)

CL0705R BADE-28-170 REAR R MAZDA 3 SEDAN MAXICO BUILT 17.07-18 20PCS

M10xP1.25 (40/2PCS)

CL0705L BADE-28-190 REAR L MAZDA 3 SEDAN MAXICO BUILT 17.07-18 20PCS

M10xP1.25 (40/2PCS)

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CL0678R CLSU-13R 20420FL00A FRONT R IMPREZA SEDAN/WAGON 17- 10PCS

M12xP1.25 (20/2PCS)

CL0678L CLSU-13L 20420-FL01A FRONT L IMPREZA SEDAN/WAGON 17- 10PCS

M12xP1.25 (20/2PCS)

CL0679R CLSU-14R 20420-FL020 ◈ FRONT R ASCENT 19 10PCS

20420-XC00A M12xP1.25 CROSSTREK 18- (20/2PCS)

CL0679L CLSU-14L 20420-FL030 ◈ FRONT L ASCENT 19 10PCS

20420-XC01A M12xP1.25 CROSSTREK 18- (20/2PCS)

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CL0680R CLHO-103R 51320-THR-A01 FRONT R ODYSSEY 18- 10PCS

M12xP1.25 (20/2PCS)

CL0680L CLHO-103L 51325-THR-A01 FRONT L ODYSSEY 18- 10PCS

M12xP1.25 (20/2PCS)

FORD

TIE ROD END

STABILIZER LINK

HONDA

MAZDA

SUBARU

CONTROL ARM

NISSAN



NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CL0711R 51320-TGH-A01 FRONOT R CIVIC TYPE R 17- 10PCS

M10xP1.25 (20/2PCS)

CL0711L 51325-TGH-A01 FRONT L CIVIC TYPE R 17- 10PCS

M10xP1.25 (20/2PCS)

CL0716 51340-TGH-A01 FRONT CIVIC TYPE R 17- 20PCS

M14xP1.5 (40/2PCS)

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CL0714 68246496AD FRONT FIAT 500X 19- 10PCS

M12xP1.25 JEEP COMPASS (NEW) 17- (20/2PCS)

JEEP RENEGADE 15-18

CL0715 68273965AB REAR JEEP COMPASS (NEW) FWD 17- 10PCS

M12xP1.25 (20/2PCS)

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CL0713 BK2Z-5K484-C FRONT FORD TRANSIT PASSENGER VAN 15-18 10PCS

M12xP1.25 FORD-CEG/MTD TRANSIT CARGO VAN 15-18 (20/2PCS)

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CL0697R CLG-70R 23162538 FRONT R ATS COUPE AWD 15-18 16PCS

M10X1.25 CTS SEDAN 14- (32/2PCS)

CL0697L CLG-70L 23162537 FRONT L ATS COUPE AWD 15-18 16PCS

M10X1.25 CTS SEDAN 14- (32/2PCS)

CL0698 CLG-71 23105170 REAR CADILLAC ATS SEDAN 13-18 20PCS

M10xP1.25 CADILLAC ATS COUPE 15-18 (40/2PCS)

CADILLAC ATS-V COUPE 16-18

CADILLAC CTS SEDAN 14-

CADILLAC CTS-V SEDAN 16-

CHEVROLET CAMARO COUPE/CONV 16-18

CL0699R CLG-72R 23177280 FRONT R BUICK LACROSSE W/HIPER STRUT PKG 17-18 16PCS

M10X1.25 (32/2PCS)

CL0699L CLG-72L 22946081 FRONT L BUICK LACROSSE W/HIPER STRUT PKG 17-18 16PCS

M10X1.25 (32/2PCS)

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GV0532 48815-26250 RR LAND CRUISER 100 FZJ10#, HDJ100, HZJ105, UZJ100 98-07 120

STABILIZER REGIUS/TOURING HIACE KCH4#, LXH4#, RCH4# 97-02

BAR LEXUS LX470 UZJ100 98-07

GV0533 48815-60380 FRT 4RUNNER GRN28# 09- 64

STABILIZER FJ CRUISER GSJ1# 06-14

BAR LAND CRUISER PRADO GDJ15#, GRJ15#, KDJ15#, LJ150, 09-

TRJ15#

TOYOTA

FORD

CHRYSLER

GENERAL MOTORS

STABILIZER LINK

BUSH

HONDA



NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GV0538 48815-33101 FRT CAMRY HYBRID AVV50 11- 120

STABILIZER

BAR

GV0540 48815-60320 FRT 4RUNNER GRN28#, TRN28# 09- 16

STABILIZER LAND CRUISER PRADO GRJ150, KDJ15#, LJ150, TRJ15# 09-

BAR LEXUS GX400/460 GRJ150, URJ150 09-

GV0541 48818-60020 RR 4RUNNER GRN28#, TRN28# 09- 16

STABILIZER LAND CRUISER PRADO GRJ150, KDJ15#, LJ150, TRJ15# 09-

BAR LEXUS GX400/460 GRJ150, URJ150 09-

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GV0534 KD35-28-430A FRT LOWER CX-5 11- 120

ARM

GV0535 KD35-28-602 RUBBER CX-5 11- 120

GV0536 KD35-28-480 RR UPPER CX-5 11- 120

ARM

GV0537 KD35-28-450 RR UPPER CX-5 11- 120

ARM

GV0545 KD35-34-156E FRT CX-5 13-16 120

STABILIZER

BAR

GV0546 KD31-28-156D RR MAZDA 3 SEDAN/HATCHBACK 14-18 120

STABILIZER MAZDA 6 17

BAR CX-5 FWD 13-18

CX-9 FWD 16-

GV0547 KD35-28-156D RR CX-5 AWD 13-19 120

STABILIZER CX-9 AWD 16-19

BAR

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GV0526 CVKH-198 54841-38000 RUBBER VERNA 99-06 150

GRANDEUR XG 98-05

SONATA EF 98-06

STAREX 01-07

OPIRUS 03-06

OPTIMA 00-05

REGAL 02-05

BUSH

TOYOTA

MAZDA

HYUNDAI



NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GV0542R 55275-3W000 BUSH-RR TUCSON IX LM 09-13 30

TRAILING SPORTAGE R SL 10-13

ARM, RH

GV0542L 55274-3W000 BUSH-RR TUCSON IX LM 09-13 30

TRAILING SPORTAGE R SL 10-13

ARM, LH

GV0543 21772-2S000 INSULATOR TUCSON IX LM 09-13 30

-RR TUCSON LM 13-15

KONA OS 17-

SPORTAGE R SL 10-13

SPORTAGE SL 13-15

SELTOS SP2 19-

GV0544 53912-2E200 INSULATOR KONA OS 17- 60

-FRT MAXCRUZ NC 13-18

SANTA FE CM 05-12

DM 12-18

VERACRUZ EN 06-15

TUCSON JM 04-09

TUCSON IX LM 09-13

TUCSON LM 13-15

TL 15-

SELTOS SP2 19-

SORENTO XM 09-14

UM 14-

NEW SPORTAGE JE/KM 04-10

SPORTAGE R SL 10-13

SPORTAGE SL 13-15

QL 15-

GV0548 55160-1R000 BUSH ACCENT RB 10- 30

-TRAIL ARM

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GV0529 0K2N1-34-156 RUBBER CARENS RS 99-02 64

SEPHIA II S-CAR 97-00

SPECTRA SD 00-03

SPECTRA WING/SHUMA SD 98-03

GV0530 55513-3N100 FRT K5 JF 15- 72

STABILIZER SPORTAGE R SL 10-13

BAR SPORTAGE SL 13-15

SONATA LF 14-

TUCSON IX LM 09-13

TUCSON LM 13-15

BUSH

HYUNDAI

KIA



NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GV0539 55160-1W000 BUSH-TRAIL ARMPRIDE UB/LB 11-17 30

GV0550 0K2C0-34-460 RUBBER CARENS RS 99-02 64

CARENS II/XTREK RS 02-05

SEPHIA II 97-00

SPECTRA WING/SHUMA 98-03

SPECTRA 00-03

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GV0527 CVKD-86 96444469 FRT LANOS T100 97-02 64

STABILIZER

BAR

GV0531 13281782 FRT OPEL AMPERA 12- 64

STABILIZER OPEL ASTRA-J 10-

BAR OPEL INSIGNIA 09-

GV0549 13334021 RUBBER CHEVROLET CRUZE J300, J308, J305 09- 30

OPEL/VAUXHALL ASTRA J 09-

KIA

BUSH

GM KOREA


